Algebra 1 Review Sec 8-1t08-5 Spring 2015

1. Evaluate each expressionfor 4 = - B=4 (C=6

Give fractional answers in reduced form (NO DECIMALS) .
)

a) B3>.C? b) -34-2B c) 5131 C

Simplify each. Give answers without negative exponents and fractional answers in reduced form (NO
DECIMALS)
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17. Write each in scientific notation. 18. Write each in standard notation.
a) 45,6000 b) 0.000000002178 a) 8.617x 1073 b) 5.337 x 10°

19. Find the value of each. Give your answer in both scientific notation and standard notation.

2.75 x 1078.)(3.2 x 10° 22x10
a) (2.75x 107%.)(3.2 x 10%) b) Z2x10.

Simplify each. Give answers without negative exponents and fractional answers in reduced form (NO
DECIMALS)
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27. A company produces 2.75 x 107 parts for computers each year. If each part is sold for $6.50 how much
evenue does the company generate each year selling these parts? Give your answer in both Scientific Notation

ind Standard Notation.

28. The following numbers aren’t in Scientific Notation. Explain why and then write them in proper Scientific

lotation.
a) 576.2x10°¢ b) 0.00031 x 103
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17. a) 4.56 x 105 b) 2.178 x 10-°

18.a) 0.00008617 b) 533,700

19. a) 8.8 x 107 = 0.000088 b) 3 x 105 = 3,000,000

20. 5R* 21. Z%c—s 22. 23. 16b%c*
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27. $178,750,000 = $1.7875 x 10®

28. a) 576.2is larger than 10. Proper Scientific Notation is: 5.762 x 10
b) 0.00031 is less than 1. Proper Scientific Notation is: 3.1 X 10*

ANSWERS




